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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt all the questions. All the questions have three
parts. Answer any two parts of each question.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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(a) (i) Suppose there is a one- time increase in the

(ii)

productivity of research represented by an
increase in & where & represents the
productivity of research. Explain in the
context of the Romer model, what happens
to growth rate and level of technology over

time? (Explain with diagrams)

Consider the level of per capita income along
the balanced growth path given by the

following equation —
y*(t) = (s /n+g,+d)¥'"* (1-Sy) 8s,/g, L)

The notations have their usual meanings as
in the Romer model of endogenous growth.
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(b) O

(c)

(i)
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Find the ve i
value of s, that maximizes output
per worker along the balanced growth path

Te, y*(t) . What happens to the economy when
it exceeds the value ? (3.5+4)

In the context of the Solow model with no
technical change, what is the saving rate that
maximizes steady-state consumption per
worker? (Assume that consumption is equal
to output minus investment). What is the

marginal product of capital in this steady-

state?

Examine in the context of the Solow model
the short and long- run effects of a one-time
permanent increase in the stock of labour.
Assume that g (growth of technology)=0 and

n (population growth rate) > 0. (4+3.5)

Assume that the marginal cost for a
monopolist is 2 constant i.e., c. The demand
curve is linear and has the form Q = a-bP
(where a, b are positive constants), Q, P have

their usual meanings and a-bc > 0. Find the
g equilibrium (both price and

profit maximizin
f profits and consumer

quantity), level o

p.T.O.
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(1) Classily the following goods as rivalrous and
non-rivalrous and by the extent Lo which they
are excludable - (rade sceret for Coca Cola,
a compact disc, 4 lighthouse that

music from
e role of the market

ain I
providing each of the

(4.5+3)

puides ships. Expl

and the government in

goods 1in the previous question.

27 (M@ & WA LREIS)

(ii) ﬁm@rﬁdﬁaﬁﬁmmﬁqﬂqa@%ﬁﬁﬁmw
%mqqﬁwﬁﬁm%wmﬁaﬂrﬁ—

y*(t) = (sK/n-FgA+d)°‘“‘OL (1-Sg) Osp/8a L(t)

Wﬁwﬂ%ﬂmﬁw%mﬁﬁaﬁw

S w3 B



S

SR &1 9 5ra a0’ oy udlor frerrm g 2
oY w9y Al w2

I, Y1) | T A s ARy R 3rderee @y
w1 B 27

q, Wi e R -Usa @ ) st oy
qeN TS R/ A R? (W o o mwd aseqe
wel AW & SR 2)1 3@ R - grmen ¥ oo
& QAT IUE R 27

AR e B wd o R v R
A gfg & Sreadtiorn 3R Ao T 51
qRET | AT o foR o (SRR w6 9fE) =
0 3R o (vEn e /) >0.

W W fr v gefeER & e e S
R 3 Ak @ W I W & S TR
Q=abp ¥ (3 a, b o e ¥). Q.
p @ s g o F AR a-be> 0.



3458 6

(ii) ﬁw%fﬁaa@aﬁaﬁwﬁaaaﬁzﬂ; ?%3\

thshmélﬁaﬁmﬁmaﬁﬁ'
maﬂﬁﬁwaﬁ?maﬂgﬁmﬁ
RAT S|

2. (a) Explain why, following a monetary expansion, the
exchange rate always overshoots its new long-rup

equilibrium value. (7.5)

(b) Under the extended asset market approach to
exchange rate determination, how does the
increased risk of foreign bonds impact the value
of the domestic currency relative to foreign
currency (the initial impact)? How would this
impact further affect the Expected Appreciation
(EA) of the foreign currency (assuming that the
expected exchange rate in the spot market remains
unchanged) and the Risk Premium? (4+3.5)
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(ii)
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arge deficits, the

e governme
can attract fundg from abts Nment

ad, which can then

unwise, since the forei
1€n countrie
S are bound

to respond unkindly to thig beggar-th
- y-

neighbour policy.’ g this true or false?
Comment.

What do you mean by stabilizing and

destabilizing stabilization? (5+2.5)
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3. (a) Consider an economy where :
The official budget deficit is 4% of GDP.
Debt to GDP ratio is 100%
The nominal interest rate is 10%

The inflation rate is 7%

() What is primary deficit/surplus ratio 0
GDP?

(i) What is inflation - adjusted deficit/surp®
to GDP?
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(iti) Supposc instead that output begins at its
natural level and output growth remains
constant at the normal rate of 2%. Will the

debt-to-GDP ratio go up or down over
time?

(1v) Explain cyclically adjusted deficit.

(2+2+2+1.5)

(b) Explain how cach of the following would affect
the demand for M1 and M2 :

(M1 represents currency and checkable deposits,
M2 represents M1 plus money market, market
accounts and short term time deposits)

(1) Banks reduce penalties on early withdrawal
from time deposits.

(1)) The government forbids the use of money

market funds for check writing purposes.

(i11) The government legislates a tax on all ATM
transactions.

(iv) The government decides to impose a tax
on all transactions involving any short term
government securities (1.5+2+2+2)

P.T.O.
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©) (i) “Wars typically bring about large budge,
deficits”. Explain this statement.

(ii) Explain tax distortion as a cost of inﬂation_
(4+3.5)
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(a) (i) Distinguish between credit- driven bubb]eg
and optimistic expcctations driven bubbles.

(i) What are the various practices commercia]

banks use to solve asymmetric information

problems? (3.5+4)

(b) (i) Distinguish between Friedman’s and Phelps’s

versions of the fooling model?

(i) What is a macroeconomic externality?
How do long-term agreements impose a

macroeconomic externality on the economy?
(4+3.5)

(c) (i) What are the common elements of the original

and the New Keynesian approaches?

(i) Explain using the New Keynesian model
why small nominal rigidities have large

macroeconomic effects. (2.5+5)
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(ii)
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(iii)
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the countrics as a whole’ Show with the help
of a diagram how the nco classical growty
model explains this phenomena. What other

predictions does this model make?

Does this prediction of the neoclassical mode]
explain the differences in growth rates acrosg

the countries of the world? Discuss.

(4.5+3)

What are the determinants of expected
profitability of investment?

Explain the relationship between social
infrastructure and each of the following —

investment share of GDP, average years of
schooling.

What are the determinants of social
infrastructure? (3+3+1.5)

If the positive interest rate differential in

favour of a foreign monetary centre is 4%
per year and the foreign currency is at a

forward discount of 2% per year, roughly how
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(i) Write a short note on ‘Crawling Peg System’.

(4+3.5)
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